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                                         ___ Operaciones combinadas  

                                   con quebrados / fracciones ___   

 

Solución _________________________________________________________________________ 

 

 Calcula y simplifica siempre que puedas. 

   

[(
𝟔

𝟑
+

𝟒

𝟑
) +  (

𝟐

𝟑
+

𝟓

𝟑
)]  𝒙 (

𝟒

𝟓
−

𝟐

𝟓
) =     (

𝟓

𝟑
+

𝟖

𝟑
)  𝒙 [(

𝟏𝟎

𝟐
+ 𝟐) +  (

𝟒

𝟐
−

𝟏

𝟐
)] = 

 [
10

3
+  

7

3
]  𝑥 (

4

5
−

2

5
)        (

5

3
+

8

3
)  𝑥 [

14

2
+  

3

2
] 

        
17

3
𝑥 (

4

5
−

2

5
)      (

5

3
+

8

3
)  𝑥

17

2
 

           
17

3
𝑥

2

5
        

13

3
𝑥

17

2
 

              
𝟑𝟒

𝟏𝟓
           

𝟐𝟐𝟏

𝟔
 

 

𝟐 + [(
𝟖

𝟑
+

𝟐

𝟑
) 𝒙 (

𝟏𝟎

𝟑
− 𝟐)] =          [(

𝟒

𝟑
+

𝟐

𝟑
) −  (

𝟓

𝟑
−

𝟏

𝟑
)]  𝒙 (

𝟒

𝟓
+

𝟐

𝟓
) = 

        2 + [
10

3
𝑥 

4

3
]                 [

6

3
−  

4

3
]  𝑥 (

4

5
+

2

5
) 

            2 +
40

9
              

2

3
 𝑥 

6

5
   

   
𝟓𝟖

𝟗
                 

12

5
   =  

𝟒

𝟓
 

 

(
𝟐

𝟑
+

𝟓

𝟑
) 𝒙 (𝟏𝟎 ∶ 𝟓) + (𝟗 +

𝟏

𝟑
) =       𝟔𝟒 ∶ 𝟖 + [(

𝟑

𝟕
+

𝟓

𝟕
) 𝒙 (

𝟖

𝟐
−

𝟑

𝟐
)] = 

     
7

3
𝑥 (10 ∶ 5) + (9 +

1

3
)                 64 ∶ 8 + [

8

7
𝑥 

5

2
] 

          
7

3
𝑥 2 + (9 +

1

3
)      64 ∶  8 +

40

14
 

              
7

3
 𝑥 2 +

28

3
                                       8 +

40

14
 

    
14

3
+

28

3
                                             

152

14
   =  

𝟕𝟔

𝟕
 

                   
𝟒𝟐

𝟑
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(
𝟐𝟏

𝟒
− 𝟓) + (𝟖 +

𝟑

𝟒
) + 𝟔 =                       [𝟔 + (

𝟖

𝟐
−

𝟑

𝟐
)] 𝒙 𝟑 = 

       
1

4
+

35

4
+ 6                 [6 +  

5

2
]  𝑥 3  

          
36

4
+ 6            

17

2
 𝑥 3 

          
60

4
   =   

30

2
   =  15             

𝟓𝟏

𝟐
 

 

(
𝟐

𝟓
+

𝟖

𝟓
− 

𝟒

𝟓
) 𝒙 (𝟑 +

𝟐

𝟔
) =                  (

𝟔𝟒

𝟑
− 𝟗) + (

𝟏𝟖

𝟑
−

𝟕

𝟑
) + 𝟒 = 

   (
𝟏𝟎

𝟓
− 

𝟒

𝟓
) 𝑥 (3 +

𝟐

𝟔
)                          

𝟑𝟕

𝟑
+

𝟏𝟏

𝟑
+ 4 

          
6

5
 𝑥 

20

6
        

𝟒𝟖

𝟑
+ 4 

            
120

30
   =   

12

3
   =  4      

60

3
   =  20 

 

 

[(
𝟏𝟗

𝟖
+

𝟔

𝟖
) −  𝟑]  𝒙 𝟓 +

𝟏𝟏

𝟖
 =        𝟑𝟐 ∶ 𝟖 + 𝟐𝟓 ∶ 𝟓 +

𝟒

𝟑
− 𝟕 =  

     [
𝟐𝟓

𝟖
−  𝟑]  𝑥 𝟓 +

𝟏𝟏

𝟖
                     𝟒 + 𝟐𝟓 ∶ 𝟓 +

𝟒

𝟑
− 𝟕 

          
𝟏

𝟖
 𝑥 𝟓 +

𝟏𝟏

𝟖
                               𝟒 + 𝟓 +

𝟒

𝟑
− 𝟕 

             
𝟓

𝟖
+

𝟏𝟏

𝟖
                               𝟒 + 𝟓 +

𝟒

𝟑
− 𝟕 

               
16

8
   =   2          𝟗 +

𝟒

𝟑
− 𝟕  

           
𝟑𝟏

𝟑
− 𝟕 

                
𝟏𝟎

𝟑
 

 

 

 

 

 

 


